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What is eEDM
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CP violating:

Cause correction  
to electron mass:



Why study eEDM
Powerful probe of new physics at collider scale

Scaling analysis:

ACME II constraint is not yet published; all following discussion 
assumes a hypothetical value



eEDM from SUSY (1 loop)
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eEDM from SUSY (2 loop)
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eEDM from QULE

tree-level QULE, one-loop eEDM [Arnold, Fornal, Wise arXiv:1304.6119v2]

• quantum number of intermediate scalar fixed
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one-loop QULE, two-loop eEDM:

• contain many different scenarios of new physics
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eEDM from QULE
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